

ON THE DEGREE OF APPROXIMATION OF CONJUGATE
OF A FUNCTION BELONGING TO WEIGHTED $W(L^p, \xi(t))$
CLASS BY MATRIX SUMMABILITY MEANS OF
CONJUGATE SERIES OF A FOURIER SERIES

SHYAM LAL

Abstract. In this paper a new theorem on the degree of approximation of conjugate of a function belonging to weighted $W(L^p, \xi(t))$ class by Matrix summability means of conjugate series of a Fourier series has been established. The main theorem is a generalization of several known and unknown results.

1. Introduction

Bernstein [14], Alexits [5], Sahney [3] and Chandra [13] have determined the degree of approximation of a function belonging to $\text{Lip } \alpha$ by $(C, 1)$, (C, δ) , (N, p_n) and (\overline{N}, p_n) means of its Fourier Series. Working in the same direction Sahney [11] and Khan [6] have studied the degree of approximation of functions belonging to $\text{Lip}(\alpha, p)$ by (N, p_n) & (N, p, q) means respectively. (N, p, q) summability reduces to (N, p_n) summability for $q_n = 1 \forall n$ and to (\overline{N}, q_n) means when $p_n = 1 \forall n$. After quite a good amount of work on degree of approximation of function by different summability means of its Fourier Series, for the first time in 1981, Quereshi ([7], [8]) discussed the degree of approximation of conjugate of a function belonging to $\text{Lip } \alpha$ and $\text{Lip}(\alpha, p)$ by (N, p_n) means of conjugate series of a Fourier series. But till now no work seems to have been done to obtain the degree of approximation of conjugate of function belonging to weighted class $W(L^p, \xi(t))$ by matrix means of conjugate series of a Fourier Series. The weighted $W(L^p, \xi(t))$ class is the generalization of $\text{Lip } \alpha$, $\text{Lip}(\alpha, p)$ and $\text{Lip}(\xi(t), p)$. Matrix means includes $(C, 1)$, (C, δ) , (N, p_n) and (N, p, q) means as special classes. In an attempt to make an advance study in this direction, in present paper, one theorem on degree of approximation of conjugate of a function of $W(L^p, \xi(t))$ class by matrix means of conjugate series of a Fourier series has been established.

Received January 14, 2000.

2000 *Mathematics Subject Classification.* 42B05, 42B08.

Key words and phrases. Degree of approximation, Fourier series, conjugate series of Fourier series, matrix summability.

2. Definitions and Notations

Let f be periodic with period 2π and integrable in the Lebesgue senses. Let its Fourier Series be given by

$$f(x) \approx \frac{1}{2}a_0 + \sum_{n=1}^{\infty} (a_n \cos nx + b_n \sin nx) \tag{2.1}$$

The conjugate series of the Fourier series (2.1) is given by

$$\sum_{n=1}^{\infty} (a_n \sin nx - b_n \cos nx) \tag{2.2}$$

Let $T = (a_{n,k})$ be an infinite triangular matrix satisfying the Silverman-Toeplitz [12] condition of regularity i.e.

$$\sum_{k=0}^n a_{n,k} \rightarrow 1, \quad \text{as } n \rightarrow \infty, \quad a_{n,k} = 0 \text{ for } k > n$$

and $\sum_{k=0}^n |a_{n,k}| \leq M$, a finite constant Let $\sum_{m=0}^{\infty} u_m$ be an infinite series such that $S_k = \sum_{v=0}^k u_v$ The sequence-to-sequence transformation

$$t_n = \sum_{k=0}^n a_{n,k} S_k = \sum_{k=0}^n a_{n,n-k} S_{n-k}$$

defines the sequence $\{t_n\}$ of matrix means of the sequence $\{S_n\}$ generated by the sequence of coefficients $(a_{n,k})$. The series $\sum u_n$ is said to be summable to the sum S by matrix method if $\text{Lim}_{n \rightarrow \infty} t_n$ exists and equal to S (Zygmund [1]) and we write:

$$t_n \rightarrow S(T), \text{ as } n \rightarrow \infty.$$

Seven important particular cases of matrix means are:

- (i) $(C, 1)$ means when $a_{n,k} = \frac{1}{n+1} \forall k$
- (ii) Harmonic means when $a_{n,k} = \frac{1}{(n-k+1) \log n}$
- (iii) (C, δ) means when $a_{n,k} = \frac{\binom{n-k+\delta-1}{\delta-1}}{\binom{n+\delta}{\delta}}$
- (iv) (H, p) means when $a_{n,k} = \frac{1}{(\log)_{(n+1)}^{p-1}} \prod_{q=0}^{p-1} \log^q(k+1)$
- (v) Nörlund means [10] when $a_{n,k} = \frac{p_{n-k}}{P_n}$, where $P_n = \sum_{k=0}^n p_k$
- (vi) Riez means (\overline{N}, p_n) when $a_{n,k} = p_k/P_n$
- (vii) Generalized Nörlund mean (N, p, q) [4] when

$$a_{n,k} = \frac{p_{n-k} q_k}{R_n} \text{ where } R_n = \sum_{k=0}^n p_k q_{n-k}$$

We define norm by

$$\|f\|_p = \left(\int_0^{2\pi} |f(x)|^p dx \right)^{\frac{1}{p}}; \quad p \geq 1$$

And let the degree of approximation be given by (Zygmund [1])

$$E_n(f) = \text{Min}_{T_n} \|f - T_n\|_p$$

where $T_n(x)$ is some n^{th} degree trigonometric polynomial.

A function $f \in \text{Lip } \alpha$ if

$$\begin{aligned} f(x+t) - f(x) &= O(|t|^\alpha) \text{ for } 0 < \alpha \leq 1 \\ f &\in \text{Lip}(\alpha, p) \text{ if} \\ \left(\int_0^{2\pi} |f(x+t) - f(x)|^p dx \right)^{1/p} &= O(t^\alpha), \quad 0 < \alpha \leq 1, p \geq 1 \end{aligned}$$

(def. 5.38 of Mc Fadden [9])

Given a positive increasing function $\xi(t)$ and an integer $p > 1$, we find (Siddiqui [2]) that

$$f(x) \in \text{Lip}(\xi(t), p) \text{ if } \left(\int_0^{2\pi} |f(x+t) - f(x)|^p dx \right)^{1/p} = O(\xi(t))$$

and that

$$f(x) \in W(L^p, \xi(t)).(\text{Lal [15]}) \text{ if } \left(\int_0^{2\pi} |f(x+t) - f(x)|^p \sin^{\beta p} dx \right)^{1/p} = O(\xi(t)), (\beta \geq 0).$$

In case $\beta = 0$, we notice that $W(L^p, \xi(t))$ class concides with the class $\text{Lip}(\xi(t), p)$.

We shall use following notations:

$$\begin{aligned} \Psi(t) &= f(x+t) - f(x-t) \\ A_{n,\tau} &= \sum_{k=0}^{\tau} a_{n,n-k}, \\ \tau &= \text{Integral part of } \frac{1}{t} = \left[\frac{1}{t} \right] \\ \bar{K}_n(t) &= \frac{1}{2\pi} \sum_{k=0}^n a_{n,n-k} \frac{\cos(n-k-\frac{1}{2})t}{\sin \frac{t}{2}} \end{aligned}$$

3. Main Theorem

Our object of this paper is to prove the following theorem:

Theorem. If $T = (a_{n,k})$ is an infinite regular triangular matrix such that the element $a_{n,k}$ is non-negative and non-decreasing with k then the degree of approximation of a function $\overline{f(x)}$, conjugate to a 2π periodic function f belonging to weighted $W(L^p, \xi(t))$ class by Matrix summability means of its conjugate series, is given by

$$\|\overline{t}_n(x) - \overline{f}(x)\|_p = O\left(\xi\left(\frac{1}{n}\right)^{\beta + \frac{1}{p}}\right)$$

provided $\xi(t)$ satisfies the following conditions:

$$\left(\int_0^{1/n} \left(\frac{t|\psi(t)|}{\xi(t)}\right)^p \sin^{\beta p} t dt\right)^{1/p} = O\left(\frac{1}{n}\right) \quad (3.1)$$

$$\left(\int_{\frac{1}{n}}^{\pi} \left(\frac{t^{-\delta}|\psi(t)|}{\xi(t)}\right)^p dt\right)^{1/p} = O(n^\delta) \quad (3.2)$$

where δ is an arbitrary number such that $q(1 - \delta) - 1 > 0$, conditions (3.1) & (3.2) hold uniformly in x ,

$$\overline{t}_n(x) = \sum_{k=0}^n a_{n,n-k} \overline{S_{n-k}}$$

i.e. matrix means of conjugate series of a Fourier Series (2.2),

$1/p + 1/q = 1$ such that $1 \leq p \leq \infty$ and

$$\overline{f}(x) = -\frac{1}{2\pi} \int_0^{\pi} \psi(t) \cot \frac{1}{2} t dt$$

4. Lemmas

For the proof of our theorem following lemmas are required.

Lemma 4.1. If $a_{n,k}$ is non-negative and non-decreasing with k then for $0 \leq a \leq b \leq \infty$, $0 \leq t \leq \pi$ and for any n ,

$$\left| \sum_{k=a}^b a_{n,n-k} e^{i(n-k)t} \right| \leq O(A_{n,\tau}) \quad \text{where } \tau = \text{Integral part of } \frac{1}{t} = \left[\frac{1}{t}\right].$$

Proof. Let $\tau = \left[\frac{1}{t}\right]$, then

$$\begin{aligned} \left| \sum_{k=a}^b a_{n,n-k} e^{i(n-k)t} \right| &= \left| e^{int} \sum_{k=0}^b a_{n,n-k} e^{-ikt} \right| \\ &\leq \left| \sum_{k=a}^{\tau-1} a_{n,n-k} e^{-ikt} \right| + \left| \sum_{k=\tau}^b a_{n,n-k} e^{-ikt} \right| \end{aligned}$$

$$\begin{aligned} &\leq \left| \sum_{k=a}^{\tau-1} a_{n,n-k} \right| + a_{n,n-\tau} \left| \sum_{\tau \leq k \leq r \leq b} e^{-ikt} \right|, \text{ by Abel's Lemma} \\ &\leq A_{n,\tau-1} + a_{n,n-\tau} \left| \frac{e^{-i\tau t} \{1 - (e^{-it})^{r-\tau+1}\}}{(1 - e^{-it})} \right| \\ &\leq A_{n,\tau} + a_{n,n-\tau} \left| \frac{e^{-i\tau t}}{e^{-it/2}} \right| \left| \frac{1 - (e^{-i(r-\tau+1)t})}{e^{it/2} - e^{-it/2}} \right| \end{aligned}$$

or,

$$\begin{aligned} \left| \sum_{k=a}^b a_{n,n-k} e^{i(n-k)t} \right| &\leq A_{n,\tau} + \frac{2a_{n,n-\tau}}{\sin \frac{t}{2}} \\ &= A_{n,\tau} + O\left(\frac{a_{n,n-\tau}}{t}\right) \end{aligned} \tag{4.1}$$

Now

$$\begin{aligned} A_{n,\tau} &= \sum_{k=0}^{\tau} a_{n,n-k} \\ &= a_{n,n} + a_{n,n-1} + \dots + a_{n,n-\tau} \\ &\geq a_{n,n-\tau} + a_{n,n-\tau} + \dots + a_{n,n-\tau} \\ &= (\tau + 1)a_{n,n-\tau} \\ &\geq \frac{a_{n,n-\tau}}{t} \quad (\because \tau = [\frac{1}{t}]). \text{ Thus we obtain that} \\ \frac{a_{n,n-\tau}}{t} &= O(A_{n,\tau}) \end{aligned} \tag{4.2}$$

By (4.1) & (4.2) we have

$$\begin{aligned} \left| \sum_{k=a}^b a_{n,n-k} e^{i(n-k)t} \right| &\leq A_{n,\tau} + O(A_{n,\tau}) \\ &= O(A_{n,\tau}). \end{aligned}$$

In this way Lemma is proved.

Lemma 4.2. Under the condition of our theorem on $(a_{n,k})$, for $0 < 1/n \leq t \leq \pi$,

$$\overline{K}_n(t) = O\left(\frac{A_{n,\tau}}{t}\right)$$

Proof. Since for $0 \leq 1/n \leq t \leq \pi$, $\sin(t/2) \frac{t}{\pi}$ therefore for $t > 0$ and $\tau \leq n$, we have

$$|\overline{N}_n(t)| = \left| \frac{1}{2\pi} \sum_{k=0}^n a_{n,n-k} \frac{\cos(n - k - \frac{1}{2})t}{\sin \frac{t}{2}} \right|$$

$$\begin{aligned}
&\leq \left| \frac{1}{2\pi} \operatorname{Real\ part\ of} \sum_{k=0}^n \frac{a_{n,n-k} e^{i(n-k-\frac{1}{2})t}}{\sin \frac{t}{2}} \right| \\
&= 0 \left\{ \frac{1}{t} \left| \sum_{k=0}^n a_{n,n-k} e^{i(n-k)t} \right| \left| e^{-it/2} \right| \right\} \\
&= 0 \left(\frac{1}{t} \left| \sum_{k=0}^n a_{n,n-k} e^{i(n-k)t} \right| \right) \\
&= 0 \left(\frac{A_{n,\tau}}{t} \right) \quad \text{by Lemma (4.1).}
\end{aligned}$$

5. Proof of Main Theorem

Let $\overline{S}_n(x)$ denote n th partial sum of the series (2.2). Then following Lal [16], we have

$$\overline{S}_n(x) - \left(-\frac{1}{2\pi} \int_0^\pi \psi(t) \cot \frac{1}{2} t dt \right) = \frac{1}{2\pi} \int_0^\pi \psi(t) \frac{\cos(n + \frac{1}{2})t}{\sin t/2} dt.$$

Now

$$\sum_{k=0}^n a_{n,n-k} [\overline{S}_{n-k} - \left(-\frac{1}{2\pi} \int_0^\pi \psi(t) \cot \frac{1}{2} t dt \right)] = \frac{1}{2\pi} \int_0^\pi \psi(t) \sum_{k=0}^n a_{n,n-k} \frac{\cos(n-k-\frac{1}{2})t}{\sin \frac{t}{2}} dt$$

or

$$\begin{aligned}
\overline{t}_n(x) - \overline{f}(x) &= \frac{1}{2\pi} \int_0^\pi \psi(t) \sum_{k=0}^n a_{n,n-k} \frac{\cos(n-k-1/2)t}{\sin \frac{t}{2}} dt \\
&= \int_0^\pi \psi(t) \overline{K}_n(t) dt \\
&= \int_0^{1/n} \psi(t) \overline{K}_n(t) dt + \int_{1/n}^\pi \psi(t) \overline{K}_n(t) dt \\
&= I_1 + I_2, \quad \text{say} \tag{5.1}
\end{aligned}$$

Applying Hölder's inequality and the fact that:

$\psi(t) \in W(l^p, \xi(t))$, we get

$$\begin{aligned}
|I_1| &= \int_0^{1/n} |\psi(t)| |\overline{K}_n(t)| dt \\
&\leq 0 \left[\int_0^{1/n} \left(\frac{t(\psi(t))}{\xi(t)} \sin^\beta t \right)^p dt \right]^{1/p} \left[\int_0^{1/n} \left(\frac{\overline{K}_n(t)\xi(t)}{t \sin^\beta t} \right)^q dt \right]^{1/q} \\
&= 0 \left(\frac{1}{n} \right) \left[\int_0^{1/n} \left(\frac{\xi(t)}{t \sin^\beta t} \frac{1}{2\pi} \left| \sum_{k=0}^n a_{n,n-k} \frac{\cos(n-k-\frac{1}{2})t}{\sin t/2} \right|^q dt \right)^{1/q} \right], \text{ by condition (3.1)}
\end{aligned}$$

$$\begin{aligned}
 &= 0\left(\frac{1}{n}\right) \left[\int_0^{1/n} \left(\frac{\xi(t)}{t^{1+\beta}} \sum_{k=0}^n \frac{a_{n,n-k}}{t} \right)^q dt \right]^{1/q} \\
 &= 0\left(\frac{1}{n}\right) \left[\int_0^{1/n} \left(\frac{\xi(t)}{t^{2+\beta}} \right)^q dt \right]^{1/q} \\
 &= 0\left(\frac{1}{n}\right) 0\left(\xi\left(\frac{1}{n}\right)\right) \left[\int_1^{1/n} \left[\frac{dt}{t^{q(\beta+2)}} \right]^{1/q} \right], \quad \text{by mean value theorem} \\
 &= 0\left(\frac{1}{n}\right) 0\left(\xi\left(\frac{1}{n}\right)\right) \left[\left\{ \frac{t^{-q(\beta+2)+1}}{-q(\beta+2)+1} \right\}^{1/n} \right]^q \\
 &= 0\left(\frac{\xi\left(\frac{1}{n}\right)}{n}\right) 0\left(n^{\beta+2-\frac{1}{q}}\right) \\
 &= 0\left(\xi\left(\frac{1}{n}\right)n^{\beta+1-\frac{1}{q}}\right) \\
 I_1 &= 0\left(\xi\left(\frac{1}{n}\right)n^{\beta+\frac{1}{p}}\right) \quad \left(\because \frac{1}{p} + \frac{1}{q} = 1\right). \tag{5.2}
 \end{aligned}$$

Let us consider I_2

$$\begin{aligned}
 |I_2| &= \left[\int_{1/n}^\pi \left(\frac{|t^{-\delta} \sin^\beta t \psi(t)|}{\xi(t)} \right)^p dt \right]^{1/p} \left[\int_{1/n}^\pi \left\{ \frac{|\overline{k_n(t)} \xi(t)|}{\sin^\beta t \cdot t^{-\delta}} \right\}^q dt \right]^{1/q} \\
 &= 0 \left[\int_{1/n}^\pi \left(\frac{|t^{-\delta}(\psi(t))|}{\xi(t)} \right)^p dt \right]^{1/p} 0 \left[\int_{1/n}^\pi \left\{ \frac{\xi(t)An, \tau}{t^{-\delta+1} \sin^\beta t} \right\}^q dt \right]^{1/q} \quad \text{by Lemma (4.2)} \\
 &= 0(n^\delta) 0 \left[\int_{1/n}^\pi \left(\frac{\xi(t)An, \tau}{t^{-\delta+1+\beta}} \right)^q dt \right]^{1/q}, \quad \text{by condition (3.2)} \\
 &= 0(n^\delta) 0 \left[\int_{1/\pi}^n \left(\frac{\xi\left(\frac{1}{y}\right)An, [y]}{y^{\delta-1-\beta}} \right)^q \frac{dy}{y^2} \right]^{1/q} \\
 &= 0(n^\delta) 0\left(\xi\left(\frac{1}{n}\right)An, n\right) \left[\int_1^n \frac{dy}{y^{q(\delta-1-\beta)+2}} \right]^{1/q}, \quad \text{by mean value theorem} \\
 &= 0(n^\delta \xi\left(\frac{1}{n}\right)) \left(\left[\frac{y^{-q(\delta-1-\beta)-1}}{-q(\delta-1-\beta)-1} \right]_1^n \right)^{1/q} \\
 &= 0(n^\delta \xi\left(\frac{1}{n}\right)) 0\left(n^{-\delta+1+\beta-\frac{1}{q}}\right) \\
 &= 0\left(\xi\left(\frac{1}{n}\right)n^{\beta+1-\frac{1}{q}}\right) \\
 I_2 &= 0\left(\xi\left(\frac{1}{n}\right)n^{\beta+\frac{1}{p}}\right) \quad \left(\because \frac{1}{p} + \frac{1}{q} = 1\right) \tag{5.3}
 \end{aligned}$$

By (5.1), (5.2) & (5.3) we get

$$|\overline{t_n}(-x) - \overline{f}(x)| = 0\left(\xi\left(\frac{1}{n}\right)n^{\beta+\frac{1}{p}}\right).$$

Therefore

$$\begin{aligned}\|\bar{t}_n(x) - \bar{f}(x)\|_p &= 0 \left(\left(\int_0^{2\pi} \left\{ \xi \left(\frac{1}{n} \right) n^{\beta+1/p} \right\}^p dx \right)^{1/p} \right) \\ &= 0 \left[\left(\xi \left(\frac{1}{n} \right) n^{\beta+1/p} \right) \left[\left(\int_0^{2\pi} dx \right)^{1/p} \right] \right].\end{aligned}$$

Thus

$$\|\bar{t}_n(x) - \bar{f}(x)\|_p = 0 \left[\left(\xi \left(\frac{1}{n} \right) n^{\beta+\frac{1}{p}} \right) \right].$$

This completes the proof of the theorem.

6. Corollaries

Following corollaries can be derived from the main theorem.

Corollary 1. *If $\beta = 0$ and $\xi(t) = t^\alpha$, $0 < \alpha \leq 1$ then degree of approximation of a function $\bar{f}(x)$, conjugate to 2π periodic function f belonging to the class $Lip(\alpha, p)$, is given by*

$$|\bar{t}_n(x) - \bar{f}(x)| = 0 \left(\frac{1}{n^{\alpha-1/p}} \right)$$

Proof.

$$\|\bar{t}_n(x) - \bar{f}(x)\|_p = \left(\int_0^{2\pi} |\bar{t}_n(x) - \bar{f}(x)|^p dx \right)^{1/p}$$

or,

$$0 \left(\xi \left(\frac{1}{n} \right) n^{\beta+1/p} \right) = \left(\int_0^{2\pi} |\bar{t}_n(x) - \bar{f}(x)|^p dx \right)^{1/p}$$

or,

$$0(1) = \left(\int_0^{2\pi} |\bar{t}_n(x) - \bar{f}(x)|^p dx \right)^{1/p} 0 \left(\frac{1}{\xi \left(\frac{1}{n} \right) n^{\beta+1/p}} \right)$$

Hence

$$|\bar{t}_n(x) - \bar{f}(x)| = 0 \left(\xi \left(\frac{1}{n} \right) n^{\beta+1/p} \right)$$

for if not the right hand side will not be $0(1)$, therefore

$$\begin{aligned}|\bar{t}_n(x) - \bar{f}(x)| &= 0 \left(\left(\frac{1}{n} \right)^\alpha n^{1/p} \right) \\ &= 0 \left(\frac{1}{n^{\alpha-1/p}} \right).\end{aligned}$$

This completes the proof.

Corollary 2. *If $p \rightarrow \infty$ in corollary 1 then we have, for $0 < \alpha < 1$,*

$$|\bar{t}_n(x) - \bar{f}(x)| = 0 \left(\frac{1}{n^\alpha} \right)$$

Remark. An independent proof of corollary 1 can be derived along the same lines as the theorem.

7. Particular Cases

- (a) If $a_{n,k} = (p_{n-k}/P_n)$, $\beta = 0$, $\xi(t) = t^\alpha$, $0 < \alpha < 1$ and $p \rightarrow \infty$ then result of Qureshi [7] becomes the particular case of main theorem.
- (b) Result of Qureshi [8] becomes the particular case of our theorem if $a_{n,k}$ and β are defined as in (a) and $\xi(t) = t^\alpha$, $0 < \alpha \leq 1$

Acknowledgement

The author is grateful to his teacher Professor L.M. Tripathi for suggesting the problem and to Professor S.N. Lal, Department of Mathematics, Banaras Hindu University, Varanasi-221005 (India) who has taken the pain to see the manuscript of this paper. Author is also grateful to the referee for his comments and suggestions for improvement of the paper. The author wishes to express his gratitude to Prof. V. K. Jain, Director and to Prof. A. P. Duivedi, Head, Department of Mathematics H. B. T. I., Kanpur for encouragement to this work.

References

- [1] A. Zygmund, *Trigonometric Series*, V. Warszawa (1935), 40-41.
- [2] A. H. Siddiqui, Ph. D. Thesis (1967), Aligarh Muslim University, Aligarh.
- [3] B. N. Sahney and D. S. God, *On degree of approximation of continuous functions*, Ranchi Univ. Math. J., **4**(1973), 50-53.
- [4] D. Borwein, *On product of sequence*, Jour. London Math. Soc., **33**(1958), 352-357.
- [5] G. Alixits, *Über die Annäherung einer stetigen Funktion durch die Cesaroschen Mittel in ihrer Fourier-reihe*, Mathe Annal, **100**(1928), 264-277.
- [6] Huzoor H. Khan, *On degree of approximation of functions belonging to the class $Lip(\alpha, p)$* , Indian J. Pure, & Appl. Math., **5**(1974), 132-136.
- [7] Kutbuddin Qureshi, *On the degree of approximation of functions belonging to the Lipschitz Class by means of a conjugate series*, India J. Pure Appl. Math., **9**(1981), 1120-1123.
- [8] Kutbuddin Qureshi, *On the degree of approximation of functions belonging to the class $Lip(\alpha, p)$, by means of a conjugate series*, Indian J. Pure Appl., **4**(1981).
- [9] L. Mc. Fadden, *Absolute Nörlund summability*, Duke Main J., **9**(1942), 168-207.
- [10] N. E. Nörlund, *Surene application des fonctions permutables*, Lund. Universitets Arsskrift, **16**(1919), 1-10.
- [11] N. Sahney and Gopal Rao, *Errors bound in the approximation function*, Bull. Aust. Math. Soc., **6**(197), 11-18.
- [12] O. Toeplitz, *Überallgemeine lineare Mittel bil dunger P.M.F.*, **22**(1913), 113-119.
- [13] Prem Chandra, *On degree of approximation of functions belonging to the Lipschitz class*, Nanta Math., **8**(1975), 88-89.

- [14] S. Bernstein, *Sur l'Order de la Meilleure approximation des fonctions continues par des polynomes de degree*, donne's Memories Acad. Roy. Belyique (2), **4**(1912), 1-104.
- [15] Shyam Lal, *On degree of approximation of functions belonging to the weighted $(L^p, \xi(t))$ class by $(C, 1)$, $(E, 1)$ means*, Tamking, Journal of Maths, **30**(1999), 47-52.
- [16] Shyam Lal, *On K^λ -summability of conjugate series of Fourier Series*, Bulletin of Calcutta Math. Soc., **89**(1997), 97-104.

Department of Mathematics, Harcourt Butler Tecnological Institute, Nawabganj, Kanpur - 208002, India.